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Question: 1

Speech processing is a general term for studying various speech technologies such as speech utterance
process, speech statistical characteristics, language perception, etc.

A. TRUE
B. FALSE

Answer: A

A complete speech synthesis system process includes?

A. Synthetic waveform conditions for phonological sequences
B. Voice to text

C. Information extraction

D. Converting a text sequence into a phonological sequence

Answer: ABCD

Taking pictures indoors on a cloudy day, the light is not good, what is the shape of the brightness
histogram of the photo? (Single choice)

A. There is a peak on each side

B. The left side is relatively flat, and the right side has a crest
C. The waveform is uniform without peaks

D. The right side is relatively flat and the left side has a crest

Answer: D

What are the difficulties of named entity recognition?
A. The length is uncertain

B. The composition of named entities is complex
C. Numerous types of named entities
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D. Complex nesting situation

Answer: ABCD

The accuracy of the target detection position can be evaluated by the 10D value. The iout calculation
method is to find the ratio of the union and intersection of the true annotations of the detection results.

A. TRUE
B. FALSE

Answer: B

Question: 6

Which preset models does ModelArts currently support? (multiple choices)

A. Gene sequencing

B. Object detection

C. Image classification
D. Image segmentation

Answer:BCD

Question: 7

The image target detection algorithm needs to be completed? (Multiple choice)

A. Calculation of target position
B. Judgment of target category
C. Calculation of confidence
D. Calculation of target edge

Answer: ABCD

Question: 8

Since the current speech processing technology is based on digital computing, it is also called digital
speech signal processing.
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A. TRUE
B. FALSE

Answer: A

Which of the following are the application of image processing technology in face recognition?

A. Face search

B. Face authentication
C. One-click beauty color
D. Face contrast

Answer: B

The Gaussian filter of the same size has better denoising effect than the mean filter.

A. TRUE
B. FALSE

Answer: A
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